
�u5l@S1UJ6\) / SCIENCE 

( �uSl� LOD)IDJLD �ITJctl6D i@J� / Tamil & English Versions) 

G,[!i lJ"LD : 2½ LO� ] [ GLOrr�� LO�uQu@Ta;GiT : 75 
[Maximum Marks : 75 Time Allowed : 2½ Hours ] 

� !!5) 6l.j � IJ : ( 1) � 6lfJ 615T �� @Si 615T rr a;a; ® LD a: rfhu rr a; � 8'ffi u u � i@J rr $) �Girm � rr � 6ijT u �6lfl61IT
a: rfl u rr IT�� a; Q s; rr 0iT m 6t.J LD . � 8' ffi u u � @Si GD ® 6lfJ (D u.51 ® u t.Sl 6ijT � 6lfJ (D a;
B;@Ta;rr�uurrmrflLLD �L61ITLq-UJ n·s; Q�rf)@S1a;a;6!.j LD.

(2) JB6DLD �6\)6\)� a;e5u � 6lfJLOu.516lfl61IT LOL.{]GLO �@�i@J�!D®u u UJ(oijlu0��

Gi@J@f 0 LD. u L rEJ a;Gir i@J 6l5) ()" i@J � !D ® Q u 6ijT .il GD u LU (oij"f LJ 0 ��6!.j LD.

Instructions : (1) Check the question paper for fairness of printing. If there is any lack of 
fairness, inform the Hall Supervisor immediately. 

(2) Use Black or Blue ink to write and pencil to draw diagrams.

Note: This question paper contains three sections. 

t.51rrl 61.j - I/ SECTION - I

(LO�uQu
@

Ta;GiT : 15) / (Marks : 15)

@) !!5) u LI ( i) @u t.Sl rfl @Si 6D �Gil m 15 @Si 615T rr Biffi®ffi@) LD @Si 6lfJ L LU GITl 8i8;
6!.j 

LD. 15 x 1 = 15

(ii) � 6lfJ L u � a; ® ,rvl u.51 WJ Gir Q a; rr 0 a; a; u u L 0 GiT m LO rr !D IDJ 6lS1 6lfJ La; GITl ru
uSl a;6t.J LD a= rfl LU rr 615T @Si 6lfJ L6lfl UJ � G� IT Ji5 Q � 0 �� � @�6t.l LD.

Note : (i) Answer all the 15 questions.
(ii) Choose the correct answer from the alternatives given in the brackets.

1. �� LD6�1\:i(oijl· G�rr(oijl,rvlLU�.

(�ut.Slrfla;a;rr, �QLOrfla;a;rr, �<oiu�G(r6DlUJrr, @Jj5�UJrr)

Primitive man evolved in :
(Africa, America, Australia, India)
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2. LDm!!)QPffiLOrra; GJ5rrti.J UIJ"&JLD cy:im!!).

(a:61fla: 51JI>��6U. 6l.J[fUJ6l.J�hurra;� Q�rfl��GD. �rrw Ga=w @mmTL.JLj� �8r. G.[5rrUJrr61fl
uLLJ6i!Tu(&)��LD �LmLDa;w)

One of the means of indirect transmission of a disease is ___ _

(Sneezing, Droplet from mouth, Placenta, Utensils of patients)

3. .[5rflGD 2filf!!)m6Ll�� 6l5lm�G6)LLI �@��LD Gurr@� @�6i!T 6l..l�LLirra; p;rr a;51$)!D�­

(@m6D��mGIT, G6D6�Ttq_Ga:6U, G6)LOffiGl)"fTG6)LJGD, cy:imGITG6Urr)

If a water soaked seed is pressed, a small drop of water comes out through :

(stomata, lenticel, micropyle, radicle)

4. �rr6LJl)"ffi.Jffi6ITl@ G6)8'6D��6i!T umfl :

(.[5m1Jci; a; L���6U. ��m6l.Jci; ffiL���GD. �uSlG�rr �uSlGD�m� a;L�@�GD.
qJJci;GnS) §s G6) � a; L�@ �GD)

The xylem in the plants are responsible for

(transport of water, transport of food, transport of amino acids, h·ansport of oxygen)

5. ffi@LJ LJ� �ffi.JffiLD 6r6i!T!!)mk9a;a;u u(&)6LJ� :

( m�LGIJ"rra;rrrru6i!Ta;w, a;rrl, QuLG1Jrr6UlLLILD, r-r-�rr)

What is called as "black gold"?

(Hydrocarbons, Coal, Petroleum, Ether)

6. qJJ k9ffi LGD QP�@ffi@)6ITl u u 6l..l rr 8,loTT ffi6LJ rr 51 ci;a; u u LLI 6i!Tu (&) �� LD 6l..l rf lL1ffi ffi6l)G6)6LJ

( �6151 LLI LD - qJ)ci;GnS) §s 6i!T ; qJ)ci;GnS) §s6i!T - m J5 LIJ"§s6i!T)

The mixture of gases used by deep sea divers is ___ _

(Helium-Oxygen, Oxygen-Nih·ogen)

7. � 51 L t.q. a; � u5l 6D � � GD 6l5l � a; rr � w GIT@ . � u51 rfl GD � w GIT � u5l 6D LD
( 6D rr e; t.q.ffi � u5l 6D LD, LIT rrLrr rfl a; � u5l 6D LD)

Vinegar is present in acetic acid. Curd contains ____ acid.

(Lactic acid/Tartaric acid)

-
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8. <oTJI>� 2._G6l)rra;LO urr�ire=��L6nT Ge=i'rJI>�fr@IJLO ��!D@) .@ire=a;a;61)615)6)J <oT6nTWI Guturr.
LU)@)k91ffi6olGTT �6oJLL.JU�!I)@) UUJ6nTU(5\LO .@IJ"8'ffi ffi61)6oJ6U
(Ag-Sn .@ire=a; a;61)6ol6U, Cu-Sn .@ire=a; a;61)6ol6U, Ag-Au .@ire=a; a;61)6ol6U)
Any metal mixed with mercury is called amalgam. The amalgam used for dental filling
is ___ _
(Ag-Sn amalgam, Cu-Sn amalgam, Ag-Au amalgam)

9. fDGn � � GU rr ��� � L LGU 6ol oo-u5l 6i> 2._6TT m Q � ff L fr .g;GTfl 6bT <or 6lilrr 6m5Tl a;6ola; :

(7, 17, 8, 18)

Number of periods in the Modem Periodic table is ____
(7, 17, 8, 18)

10. ffilirrro0o6oJUL. �a6l)rra;LDrra; .@®JI>�fr@IJLO L.6l6bre=rrir�615)�ffi ffiL��ffil!!)� . .@� ---­
-GbT a;rriroo-LDrra; ffiL��ffil!D�-

(���� <oT6l)ffiL.IJ"IT6nTffi6TT / i..Sl6oJOO-LJ Lj <oT6l)ffiL.IJ"fr6nTffi6TT)

Even though it is a non-metal, graphite conducts elech·icity. It is due to the presence of

(free electrons/bonded electrons)

11. ;2_..9 .0 ':;l�rrk91Q.l @LU �<'fl LD(5Jl>�ffi6oJGTTffi ®6TTliJ"8' Ge=u:..ill.JLO ®GTflrf) Q�rrk916i>@LU
�615) LD LJ Lj ffi6TT ____ _

(�601UJLO, 6olJ!)LIJ"�6nT. �LOGLDrr�turr, ®Gmrrrf16br)

The freezing of biotechnology products like vaccines require _____ freezing
systems.
(Helium, Nib·ogen, Ammonia, Chlorine)

12. 20 �LO L.6l6br �6olLll.j6TTGTT a;LOi..Slu5lru 0.2 A L.6l6brG�rrL.LLO 2._(56Ufrffi8j� a�615)6)JL.JU(5\LO
L.6l6br�@�� GGUwurrQ;l.
(100V, 4V, 0.0lV, 40V)

The potential difference required to pass a current of 0.2 A in a wire of resistance
20 ohms is ___ _
(100V, 4V, 0.01 V, 40V)

13. cilGa>rrGUrrL. LD6ffl!Tl <oT6nTU� ---- -m �61)® �@)LO.
( L.6l 6nl' � @�� GGU WI u rr01. L.6l 6nl' � !D 6nT, L.6l 6nl' �rrti) !D 6i>, L.6l 6b"r ®Jf LLLO)
Kilowatt-hour is the unit of ___ _
(potential difference, electric power, elech·ic energy, charge)
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14. 2..._G6l)fT8,8, 8,L�@u.S)Q) UfTll..jlD uS1iciiirG6ITTfTLLLD s&l!zi6o)6ITT8' ffi!I)!]5l
2..._C!:5i@JfT8i@)l.D.

( Q i@J LJ u L.D ' �GTT] ' a; fT .[B!zi LJ Lj 61) L.D ' <oT .rt@ i;r@Sl 6o) a=)

An electric current through a metallic conductor produces ____ around it.

(heat, light, magnetic field, mechanical force)

The defect myopia can be corrected by using a ___ _ 

(Convex lens, Concave lens, Concave mirror, Convex mirror) 

L.Slrrl� - II / SECTION - II

(LD@uGlu�a;<oiT: 40) / (Marks: 40)

® �h.'..J y : 6J��®l ill @® u� @SI 6ITT rr ci,a; (_§ffi@) @SI 66) L llJ GTTl 8>8>8-j LD. 

Note: Answer any twenty questions. 

-�

20x2=40 

16. �G i;r LDrr@rfl UJ fT6ITT @ i;fl....6o)LllJ IT8,ffi, ®Gi;rrrGLDrrGa=rrLD s&l6o)lDLJ tSl� LD 
� �@ 6o) a= .rt� i@J IT a; ffi . @ UJ !D 6o) a; UJ fT 6ITT @ i;r L 6o) L UJ IT a; ffi � G i;r lD fT@ rfl llJ fT 6ITT 
® G i;r rrG LD rrGa= rr LD s&l 6o) LD u tSl Q.l ��@66) a: ,[B!zii@J IT a;<oiT. 

��W @j � l.J L.5) L... L6ln@.J 8>6ln 6TT �@j !f>� @.J ITIT �6ln� Q ffi IT6m!T(b) (lp@6ln lD l.J U (6)�� 

( s&l ) � G i;r lD fT@ rfl UJ fT 6ITT @ i;r L 6o) L UJ IT a:; ffi ----------- (@ UJ !D 6o) a:; llJ fT 6ITT 
@i;rL6o)LUJIT8iffi / fill!ffi@)@S)ffie:;LJ u LL @i;rL6o)LUJIT$6TT) 

( qb) � a i;r LD rr � rfl UJ rr 6ITT @ i;r L 6o) L UJ IT a; <oiT ----------- ( a i@J !J)J u rr ©a:;® L icii!r 
a; rr � u u (1) i@J IT / � G i;rLD rr@rfl UJ rr 6ITT s&l 66) LD u 66) u 2..._66) L llJ i@J IT e:;<oiT) 

Identical twins are syngeneic with similar chromosomal contents. Natural clones are 
those who possess identical chromosomes. 

Fill up with the suitable word given in the brackets. 

(a) Identical twins are ___ _
(natural clones/identical clones)

(b) Identical twins are ___ _

( dissimilar to each other/ similar to each other)
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6lJ.6T6'lm 6ln 6lJ LL uS16'irr a; 6TT @")6ln!!)UITL0 �!5ITlU8>6TT 

1 �6l.JLLu51ar A Qurrl Gurrl 

2 �6l.JLLu51ar B1 loll) 8, rr6l51 

3 �6l.JLLu51ar c rrl a; Q a; L iolll 

4 �6l.JLLu51ar D ffea;G:LrrG:GDrrL.Slw rr 

Match the following vitamins with their deficiency diseases. 

SI. No. Vitamins Deficiency diseases 

1 Vitamin A Beriberi 
2 Vitamin B 1 Scurvy 

3 Vitamin C Rickets 
4 Vitamin D yctalopia 

18 . $ G: !::9 Q 8, rr ® 8, 8, LJ LJ L ® 6TT6TT LD 6011 � e.y:i � GIT u5l GU t.51 ar 6lJ ® L.D Q 8' w GU 8, � GIT 
8'L(5\uu®��L.D U@�$6TT (Y)�p:)(:gllJ � LD,[I)!l)JLD qi, 6fafg)J @pSla;a;, 

( �) J;plffirf�GU 2-60"0"f@l.D LJ@�

( qi,) LJ rrrr � 6lJ 2-60"0"1" ® L.D LJ@�

This diagram is of a human brain and the functions of different parts are given below. 
Mark A and B in the parts of the brain corresponding with the_ function.
(A) Seat of smell
(B) Seat of vision

4830 
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19. Q�1Turi.516rr �Lq-L.JU6o>L�Q) GffilTLq-LL @L�Go>� ,@IJ"Lll_jffi.

Go)� IJ" IT <'i; Gn51 6r[ - � ®Go> LD � IT rrG LD IT 6r[

� Lrr@6D16rr - ____ _

Based on relationship fill in the blanks.­
Thyroxin : personality hormone
Adrenaline: ___ _

2 0 . £ k9ffiOO L oofD WJ ffiGTT �6LJ !D IT ffi @® u i.516rr mr1 lLJ IT GITT oofD !}51 Go>GITT 6T@� ffi. 

(�) �Q)LJIT Qa=Q)ffiffi @6rrSr6D16o>GnT 2-fDU�� Qa=wa;l6rr!J)6ITT. QLLIT Qa=Q)ffiffi 
®®Gffi1TffilT6o)6nT 2-rbu�� Ga=w$16rr!I)@. 

( �) �00-LffiLD (Y)L6o>Lffi6o>GfTll..jLD, �oo-LGl)"1TgJ6o>6nTlLjLD 2-(DU�� Qa=LLJ$1!])�­

Correct the statements if they are wrong. 
(a) Alpha cells produce insulin and beta cells produce glucagon.
(b) Ovary produces eggs and Androgen.

Redraw the diagram and label the following parts 

(a) Exine
(b) Tube nucleus
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22. �8IT.Q)J6olLOu5l6irr �Lq-U U6olLu5l6D 8,�Lr5la;.

� u5l ffiJ ffil ru LO : u GD 6irr fba;@a;GiT

Q 6U 61T 6U ff 6\)
-----

Based on relationship, fill up

Whale : Baleen plates

Bat: ___ _

23. £wa;�L uL::t6olfb LO�@LO 6U6ol(l"JB� �L!J-u5lw 8,�L Uff8,ffi.J8,61fl6D GJcfb®LO
.@rr � (1) u ff a; ffiJ a;GoJ1o1T C§ r5l .g;e;� LO.

( �) Q Uio1TLOff�6irr $]��LO

( qb) (§Gio1Tffl0@6UiolU

(.@) Q�6irrGruu5l6irr &16ol1o1T�

( r-r- ) Ge:e; rfl .g; C§ LO J5 ff 1o1T LO

Draw the diagram and label any two parts mentioned below 

(a) Bowman's capsule

(b) Glomerulus

(c) Loop of Henle

(d) Collecting duct

4830 
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24. cg.g;rrtq-LL6lJ !I)6ol ,[D \d,rr �� Gc9'UJ8,.

( �) t5lmrr<oruLDrr : 6olut5lrflcg6"0Trr�Gb1 ; @o-�� �6lJUU®J

( qb) @o-�� G6l.lro6olmUJ@l

Fill in the blanks.

(a) Plasma : Fibrinogen; RBC: ___ _

(b) WBC: �--

25. Gurr@Jt�rr�6ol� cg�rrJtG�Q;\.

2 ... -'o1ITT6l..j LJ U rr 6o)� u5l 6m" U ®� a;m :

(G�rr6WT6olL, 6lJrrUJ, 6lJrrli.Jci;@)�. a;6ol�LULD)

Pick the odd one out.

The parts of the alimentary canal are

(Pharynx, Mouth, Buccal Cavity, Pancreas)

26. £wa;6WTL :12.....�Gl..j.S: 8'rEJ<'tl6016olLU U[q-�@J 8'rfl Ga=UJ@J, ��6ol6"0T qb!I),[DGU t5lo-u51Lrra; 
LDff!I)WJ. 

LDGUGurfl -> @)@6l51 -> a;LDUOO ld,8'� ➔ U@)JB@l 

Study the food chain below, correct it and convert into a pyramid of energy. 

Mulberry➔ Sparrow-> Caterpillar➔ Kite 

2 7. �@) LD U L.J Q U ,[!) @ LU Q) rr � 6lJ ffi l.D 6T" 6nT U@J �@) @ LU !I) 6o) 8, 6lJ ffi LD . @ � 6ol 6of LD 6'0ll � 
£91 a; rr 6l5J 6b-T cg 6lJ a;� 6ol � 6l5J L u5l a; cg 6lJ a; LD rr a; @LU !I) 6o)8, ,ml a; W 6l5J 6"0T rr 6U LD ff !I) ,[!) Q) ff LD . 

cgLD!I)a;6io'fL oo!I)6ol,[D utq-�@J. �6lJ,[!)ff6of�rr �GUQ.l@J 8'rflLUrr6of�rr 6T"GnTU6ol� :12.....WJ� Gc9'li.J. 
� 6l.l ,[D rr a; @ ® Jt � rr GU c9' rfl LU rr 601 oo !I) ,o516ol 6of a; oo WJ . 

A non-renewable resource is a natural resource if it is replaced by natural process at a 
rate of consumption by human. 

Read this statement and confirm whether it is correct or incortect. If it is incorrect give 
the correct statement. 
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28. �® $)ry-rn..o��GU 2008 - 2009 q_bLO q_b�lq-GU GJ)]ULL Q�rr!]WJ GJnrru:..ia;ml6ITT 6lS16l.Jry-LO
6lJ LL Gl.J6ITTry-LJ LLDffffi Qa;rr(&)ci;a;u LJ L(b)GTT61T�' @�6ITT601 oor'rfe� GJnrra;$)
£ Wffi � L 6lJ ,ID p5l ,ID® @516ITT LW ml ffiffi6l.J LO'

Gui.J@j &rrtue:8'6\J 
§lci;@:JGN@jdlturr

( � ) Q LJ (!5 LO LJ rr GD rr 601 LDffiffi6ITT 61T � rr s;$) W G JD rru:..i a;Gi,- W rr 6ITT6l.J? 

( q_b) 1oT6l.JGl.J rrw @Jt� GJnrru:..ia;Gir u ry-6l.J$)6ITTfD601?

The Pie diagram represents a survey result of infectious diseases of a village during 
2008 - 2009. 
Analyse it and answer the following questions. 

Dengue fever 
chikungunya 

(a) Which diseases affect the majority of the population ?
(b) How are these diseases transmitted ?

2 9. q_b !] f_D 6ITT GD Ga: uS1 ci; a; 2-� 6l.J LO a: rr � 601 ffi1 a; 6ITT 61T £ W a;� L 6lJ !] (!51 GDl ® Jb � 
G�rrfeG�(1)ci;a;6l.JLO. 

(�ml®LO LJGUL__jffiGTT, �rruS1ry- uS16ITT �6ITTL, @;rflUJ �r'r @5GLci)p5l, uS16ITT �r'r @5GL!]p5l, 
L ffi1 Gm LGN @5161T ffi@)ffiffi, uS16ITT 601 ®J uS16ITT � 6ITT L) 

Pick out the suitable appliances to conserve the electric energy. 
(Fluorescent bulbs, copper choke, solar water heater, electric water heater, tungsten 
bulbs, electronic choke.) 

4830 
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30. P-.@m"0o)l08; 8,�1)"8'�GD. &\.�LOffi 8:i�l)e=6Dl6Dl@J]� G(o)J!J)JU(]��a;.
Distinguish between the true solution and colloidal solution.

31. 20 $ll)"rrLO e=�LOUJ8) 2-l.JLj 50 $ll)"rrLO p;rflru ffi�IJ"J]�®J]�rrru �8;8,�1)8'8) Ge:!]51��
a=��� J£l���UJ8j 8,6MT&;$l(]a;.
Find the concentration of solution in terms of weight percent if 20 grams of common
salt is dissolved in 50 grams of water.

32. a;�a;a;@m"L::: ---��rrlJ"6MTITi.1a;ml6Dl@J]� a3Ge=rrGLrru, ffiGe=rru rrrra;�ro ��LUJ rrroLO
a; ff@m" a;

A Ao cz3s c 40 cz3718 1 
I 17 I 20 a 

I 17 
From the given examples form the pair of isotopes and the pair of isobars.

A 40 cz3s c 40 c,3718 r , 17 , 20 a , 17 

33. ( �) ffi6m-6MfrrLOLjffi a;ru�GDe: ®0u(]��LOGurr�
(qb) GLOe;��UJ J!iffLfT�(o)J&i a;rr/i)p5lru GTrfl&i@jLOGurr�.

GTJ]�G)J�ffillJff<iilrr G(o)J� ��<iilrr8,GTT J£la;@LO?
What type of chemical reaction takes place when
(a) lime stone is heated
(b) a magnesium ribbon is burnt in air.

�6\) rfll6,6TT 
@@ffi6>ffi,!m.Lq_lU 

6).J • 6T 6lrnT 

� u5l 6\) rfll6>6TT 

1 q_b l.J t.51 ffi q_bffiloll.lfT6Dl a; � u5l Q) LO 
2 GT� u5] 8'�8' LrrrTLrrrflct � uSlGDLO 
3 �IJ"ffL..�8' LO rr6151 a; � u5l GD LO 
4 �a;tnrrml �Lrflffi � uSlGDLO 

Match the following 

SL No. Source Acid present 

1 Apple Oxalic acid 
2 Lemon Tartaric Acid 
3 Grape Malic Acid 
4 Tomato Citric acid 
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W@LDL.j �LIT HCl LD(DIDJLD �LIT H 2S0 4 2.... L 6irr @S1 G6) 60T Lj rfl $1 !I)@ . qb 60T ff 6D � LIT 
2.... rfl lLJ ffi ff (I"��@ L85T 2....85T @S1 G6) LG6) LU GT (g)@ffi. 

S0
4

. But it does not react with Con. HN0
3

.

HN 0
:\ 

2.... L85T @S166)601 Lj rfl i@_J@ @ 6\) G6) lo\). 

Iron reacts with Con.HCl and Con.H
2 

Suggest your answer with proper reas on. 

� w uSl � lLJ �� 6irr u lLJ 6irr s;m @O" � t.q.. 

Write any two uses of Aluminium. 

£�8jffiff�LD Ge:1TLDIT,JffiG6)GIT ��®JG6)L 

6lJ.6T6m �B' IT LO l!iJ6., 6TT 

1 qb6Dffi� ff 6\) 

2 qb6Dt.q..G6)�0 

3 BiLGLff6irr 

4 8, ff ITU ff a;r,;nSl � a; � uSl io\.l LD 

@51«5m6lfl"Q8'UJ6\) Q�IT@)� 

>C=O

- OH

- COOH

- CHO 

Match the following compounds with t heir functional groups 

Sl. No. Compounds Functional Groups 

1 Alcohol >C=O
2 Aldehyde -OH
3 Ketone -COOH
4 Carboxylic acid - CHO

4830 

38. Gs;fft.q..LL @uI,JffiG6)ITT $10"LJL.jffi.

( � ) @S166)8' = $1 G6) !I) x & 0 8jffi Lb GT� 6\) 2.... )ii� Lb = ____ ? ___ _

( qb) � (ri@.J G6) � L 0"§36irr (I" ff a; Q s; L t.q..ioll u LU 6irr u 0 c£1 !I)@ GT� 6D _____ MRI 
ULLD L.Slt.q..���ioll ULLJ85TU(b)$1!I)@-

Fill in the blanks. 
(a) Force = mass x acceleration, then

momentum= ____ 7 ___ _

(b) Liquid hydrogen is for rocket, then

____ is for MRI.

[ �Q!)LJL.jffi / Turn over 
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39. <%k9$8ifrWJlD Bn!!).Q)J8500Gl) �@ Gurr@ml6n ,@6"6)!])GUJrr(D Q�rrLii-t51Gl)rurr� antiJ6"6)!D
GiTC_i:Q�8i.
( c§tj) @� �@ �Lq-LJU6"6)L �GTTGl.j

(q:b)@� ,@UJ,d)l.SlUJGl) �i;rrrffi Qe,rr6iN(D �GTTa;e;uu(Dffi1!])�­
(@) @� 6!Sl6l) �i;rrrffi Qe,rr6iN(D �GTTa;e;uu(Dffi1!])�-
From the following statements write down that which is not applicable to mass of an
object.
(a) It is a fundamental quantity.
(b) It is measured using physical balance.
(c) It is measured using spring balance.

40. �@ ffi1Grurr ffi1i;rrr0 ,@66)!]) (lj)@6l.J�LO �tiJ!Drurre; LDrr,d)!])uu(DLO Gurr� $)6"6)La;@)LO
�!I)(I)GrJrua; a;�·a;$l(D (®JD1ULJ: C=3x108ms-1)

Calculate the energy produced when 1 kg of substance is fully converted into energy.
(Note: C=3x108ms-1)

41. .;�a,e;rrWJLO ootiJWJe;mlG\) �QJ.Q)J @@Jt�rrGl) a:rfl Ga:we;.

( �) .i¥l!]),[t� �!I)!])Gl) e!jl6llLO GiT6nU� �IT �61)@5 ,@66)!])8>@5 @_j6"6)!]),[B� �GTTGl.j GQJ6"6)6l)
Ga:UJ UJ& oot.q-UJ�. 

( � ) � u G UJ rr ffi1 e;e; a; an t.q-w 6l.J t.q-6!Sl 6\) �GIT GTT � tiJ !D 66) ru LO oo (D LO , LO 6iN (D LO JD rr LO 
UUJ6nU{D��61)1TLO. 

Correct the mistakes, if any in the following statements 

(a) A good source of energy would be one which does a small amount of work per
unit volume of mass.

(b) Any source of energy we use to do work is consumed and can be used again.

42. 1.5 V uSl�cilUJffi(§GlS16"6)a: Qe,rr6iNL @@ uSl�e;ru�ffiGIT 5 �LO. 10 �LO. 15 �LO,
u5l 6irr � 66) La; GIT lD !I) IDJ LO a: rr 6lS1 ,@ 6l.J tiJ 66) !D � Q � rr L i;r rr ffi & Q ffi rr 6iN L �@ ffi tiJ Wl u
UL��6"6)GoT QJia"Jl)"ffi.

Draw the schematic diagram of an electric circuit consisting of a batt�ry of two cells of
1.5 Veach, three resistance of 5 ohm, 10 ohm and 15 ohm respectively and a plug key
all connected in series.
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( � ) a; rr .[i5 � u LJ ru LD GT 6liITT" LO� u LJ LO L@LD Q a; rr 6liITT" L <:9l ITT Gl.J . 

( �) a; rr.[i5� 6151 �8'e; Ga; rr@ a;GIT a; rr.[i5� Q �6ITT QP 6'6l6ITT� GD G'I � rrL ffil $l 6)J L QP6'616ITT� GD 
QPlq-�LO. 

Correct the mistakes, if any, in the following statements 

(a) Magnetic field is a quantity that has magnitude only.

(b) The magnetic field lines emerge from the south pole and merge at the north pole.

( � ) ffi6m" u fT6'6)6).J 6'6) UJ e; a; L...@U u ® �� LD .@ Q96m" L �6'618' u LG\) LD ----

( �) a;6liITT"� GD Q u rr@ml 6ITT iS1 I.DU LD 2...6liITT"Lrr @)LD u (f L.J LJ ___ _ 

From the following description write down the names of the parts in human eye. 

(a) Dark muscular diaphragm that controls the pupil.

(b) The screen where the image is formed by eye lens.

45. 6'6l LOG w rr iS1 w rr GT 6n1 u � a; 6liITT" � GD � ml 6151 ru a; 6151 GD GJ !D u (bl LD $l LL u u rr IT 6'6l 6)J a;
@) 6'6l !D u rr ® �@) LD . .@.[i5 � @) 6'6l !D � GIT ITT 6)J IT a; GIT � ® $l @}J GIT ITT Q u rr ® GIT a; 6'6l GIT�

Q �61T16)J rr a; u u rr1T a;a;ru rr LD. a=rfl UJ rr 6ITT � !D®J GTTGTT @) � Q 6ll6ITT 8r Q a; rr 6liITT"@ .@a; @)6'61 !D 6'6l uJ a=
a=rfl Q.g:li.J UJ6l)fTI.D.

( � ) .@G� 6)J 6'6)a; w rr 6m Glo)J IDJ .@(r �® 6)J 6'6)a;a; @)6'61 !Du rr@a;6'6lITT a; @)!]51 u iS1 ®a;.

( � ) � 6)J !!)6'61 !D a= rfl Q a= UJ � LO 6151 ��6'61� 2-mTIT ��a;.

You know that myopia is a common refractive defect of vision. Person with this defect
can see only nearby objects clearly. Using concave lens of suitable power this defect is
corrected.

(a) Mention other two types of defects like this.

(b) Explain how we can correct it.

4830 
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t.51rrl� - III / SECTION - III 
(LD�uGlu6riirrs;m : 20) / (Marks : 20) 

®!!Sluy (i) �6Ll Gl@.m ® u ®� u51601@Jt� LD 6}® � 6!ITIT 6D � LD !f> rr6irr ® 6lSl 60T rr ffiffi{§ffi@) 

(ii) 
(iii) 

Note: (i) 
(ii) 
(iii) 

6lSl�LlLim1ffiffi61.JLD. 4x5=20 

�6Ll Q 6lJ ff (!:9 @Sl 60TIT@Sl !I) @)lD ffi!f>� LD� l.J Q U � ffi6!T 
a��6l.J lU rr 60T @ Lf"f,J s;cll Q) u LLD 6lJ � IJ" ffi. 
Answer any four questions by choosing one question from each part. 
Each question carries five marks.

Draw diagrams wherever necessary. 

U®@ - I / PART - I 

46. �u51rfl Q�rrwiQ) J9JLU6lSllU6016irr UlU6irrurr@ffi�61T GT@�ffi­
What are the various applications of Bio Technology. Explain.

47. �r&Js;m U@)�u5IQ) LD(]6l}rflllJrr UIJ"@Sl �,oi"rm�.

(�) @��60Tffi ffiL@UuQ;)�� �6irr U@)�t6J6irr �rflllJ �@)16l.l6l)ffffi(§ffi@) �@).(5�
qb (]6l) rr 8'� 60T 6lJ t:9 ffiJ@)ffi.

( qb ) LD(]6l) rfl lU rr@Sl 6irr ,g:rfl lU rr 60T (] JD ITlLI � .[Dl@).[Dl t6J �601" (]� ff J5 Q � Q;) �� 61"@� ffi.
(®cllr'r, JD@ffiffil.D LD!I)IDJLD a;Q;)r&JffiffUJ8'8'Q), (]u�)

There is a widespread outbreak of malaria in your area.
(a) Suggest some controlling measures to the local authorities concerned.
(b) Pick out the right symptom for malaria.

(Chill and Shiver and a rise in temperature, Diarrhoea)

U®@ - II/ PART - II 
48. �ffi@)l.D �ff6l.Jl)"r&JfficllQ_) JD�LGlUIDJLD urr60160TuGlu@ffiffi @�!!)uSIQ) r-r:Q;)uQ;)LD @IJ"�©

ffes;W6l.1ffi�m 6f@�ffi-

( � ) @�Q) ffea; W6l.1 LD !D IDJ LD � 6lJ !D !!)l 6irr 6lJ �ffiffi�ffi 6lSl 6lJ rfl .
( qb) ��6llll6irr JD6irr�LD ��LDffi�ffi loT@�ffi.
Write the two events involved in the sexual reproduction of flowering plants.
(a) Discuss the first event and write the types
(b) Give advantages and disadvantages of that event.
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4 9. 2- r&J s; ® � L w u ® � ug] GU ,rB rr � L (b'l u u rr L Lq-� rr GU LD a; s; GIT � GlJ � LL..1 WJ ffil !D rr rr s; GIT. 
GT�GGl.J ,£rr$!i �L@uurrt.:__ 1.q-�� �Gl51rra;s; GT60TG�60T� &�!Dffi�GTT �s;wrr®GnrrffiGIT? 
In your area there is scarcity of water and due to this people are affected. So, what are 
the measures to be taken by you to meet out the scarcity of water. 

LJ@j� - III/ PART - III 

50. ( �) ��L(J�60"T160T �wi,ml�!D 1 ffil, qbffiW�60"T160T �wi,ml�!D 16 ffil, GT60"T16U, ,£rfl60T
ffil i:r m..o (IF 61) a; an. WJ ,ml � !D � w s; 60N a;ffil © s; . 

( qb) LJ ® LJ Q LJ rr ® GIT ffi ml 601 ffi L L � LD LJ � LJ ,ml rr @or ug] a; ® l..D � Wl 6l51 ti) ® l..D 
(lp61)ffiooWJ ffi@) l..D 2-GIT GTT GGl.J !Pl LJ rr(b'\ ffiGIT G)"G�WJ l..D (Ip 60Tn5l �� GT@� ffi. 

(a) Calculate the gram molecular mass of water from the values of gram atomic
mass of hydrogen and of oxygen.
Gram atomic mass of hydrogen= 1 g
Gram atomic mass of oxygen= 16 g.

(b) Atoms and molecules are the building blocks of matter. List out any three
differences between them.

51. LSl60TGU(5GU�GUti)n5l60T Gurr�uGuwrr LDti}WJI..D IUPAC Guwrrffi�GTT GT@�ffi.
(�) CH

3
CH

2
CHO (qb) CH

3
COCH

3

(@) CH3-C�-CH3 (r:r-) CH3COOH (�) HCHO

OH
Write the common name and IUPAC name of the following :
(a) CH3CH

2
CHO (b) CH3COCH3

(c) CH3-C�-CH3 (d) CH3COOH (e) HCHO
OH 

LJ@j� - IV/ PART - IV

5 2. ( � ) ,ml� LL60"Tl 60T (Y)�GU @LU a;.g; 6ti1 ��LU GT (b'\ $!i�ffiffi ff L(b'\ L60T 6ti1 GTT ffi@)ffi. 

Gmm 
(qb) F = d1 2 GT60Tu� J5l�LL60"T160T r:r-rruLSlwGU Gl51�ug]60T ffi�� GULq-GULD. 

J5l�LL60T r:r-rruLSlwGU Gl51�ug]�� GUrrrr$!i��s;mlGU GT@�ffi. 

(a) Explain Newton's first law of motion with an example.

Gmm 
(b) F = di 2 is the mathematical form of Newton's law of gravitation.

Give the statement of Newton's law of gravitation. 

[ �®UL..Jffi / Turn over 
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(i) u@a;:$1rr. (ii) 

(iii) LD ro ffi:$1 rr (iv) 

(v) :$1 � a: LD rr ti) r:ri a; Ga; rr@r LD (vi) 

GlS1 Q) ®a;:$1 rr 

GlS16D ® Ga; rr@r LD 

GlS1@Ga;rr@l"LD �GU6D� L.Dro Ga;rr@l"LD

(a)
Draw and label the diagram given below :

(i) Incident ray (ii) Refracted ray

(iii) Emergent ray (iv) Angle of refraction

(v) Angle of deviation (vi) Angle of emergence

A 

p 
s 

B 
C 

(�J,) �6l.lr;�:$1Gm �GTT1@516Da;GU GTOO 2.42. �GTTlu5lGm :$1�e:G6l.la;��� Gurr®��

@ii=Gtmd)Gr:ri rrur1Gm Qurr(!56TT wrr�?

(b) The refractive index of diamond is 2.42. \i\7hal is the meaning of lhis statement in

rcl,1 tion lo speed of lighl ?

-oOo-
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